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B.   FALSE 

Answer: A 

QUESTION: 114
 
This is the Data Pattern filter for this question. Examine this filter closely.  A user is trying to
 
isolate a Telnet conversation on ports 23 and 3043 from a large capture with other Telnet sessions.
 
Which statement is true?
 

A.   This filter will not display any frames 
B.   This filter will return only frames concerned with the conversation between ports 23 and 3043 
C. This filter will return more frames than just the conversation between ports 23 and 3043 
D. None of the above 

Answer: C 

QUESTION: 115
 
Telnet is an example of a(n):
 

A.   Throughput-oriented application 
B.   Streaming application 
C. Encrypted application 
D. Transaction-oriented application 

Answer: D 

QUESTION: 116 
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Which of the following statements is true regarding Symptoms and Diagnoses in the Sniffer 
Expert? 

A.   Symptoms should be viewed as a threshold exceeded that could become a major problem 
B.   Symptoms should be viewed as a threshold exceeded that is a major problem 
C. Diagnoses are based on threshold settings that are pre-defined and non-configurable 
D. Diagnoses are based on threshold settings that must be configured 

Answer: A 

QUESTION: 117 
An application such as SMB or HTTP is identified at the Expert __________ layer and 
summarized as a server with one or more endpoints. 

A.  Service 
B.   Application 
C. Session 
D.   Station 

Answer: A 

QUESTION: 118 
The Sniffer Expert Objects Detail pane provides specific statistics about __________ when 
displayed for an object at the Station Layer. 

A.   WAN link alarms 
B.   Response times 
C. MAC address 
D. Conversations 

Answer: D 

QUESTION: 119 
This is the Decode Summary window for this question. Examine this capture closely.  Expert 
display is disabled.  Which statement is true? 
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A.   The user at 192.168.8.169 would not complain of slow response 
B.   The user at 216.136.174.158 would not complain of slow response 
C. Some delta times would warrant investigation 
D. We should have seen an HTTP Post command at frame 2 

Answer: C 

QUESTION: 120 
Window Frozen is a Symptom displayed in the Sniffer Expert when a problem with the amount 
of buffer space in an end station is identified. 

A.  TRUE 
B.   FALSE 

Answer: A 
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